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What are two other names for solutions?
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Today we will:
¢ Determine how many and what type of solutions

a quadratic equation has.
¢ Solve by applying the Quadratic Formula
¢ Solve by taking square roots



Agenda

e Notes/Guided Practice
e Wrap-Up

e | esson Check

¢ Intro to Graphing



Solutions
m Also Called "Roots" or "Zeros"

m Can be found by:
e Factoring /
¢ Taking square rooti
¢ Quadratic Formula
e Completing the square
¢ Graphing



What is the Discriminant and what does it tell us?
How does this relate to graphs?

How does the number of solutions relate to the

degree of the function? &‘g &4(. ‘ :

Why are solutions sometimes real/imaginary? m

When can we solve by taking square roots?



Discriminant
D = b?- 4ac

e Tells us how many and what type of solutions

tD>0 Two dichinct Real <olotions

\P<0 Two Mg inery Sstokiens
' ~/

’P‘/IfD=0 Ore dode Real Solutien

(X4 TY\X+7) =0

X—:"’/ A= [
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1) 347 —7r 10 =
a=3 b"“ C= IO

D= -4 B2 *‘20
2) 6b” + 10b+7=0 n

=041 b=l -
| aqla
3) 5x* +10x+5=0 m =

=\0- 450 @
|00 ~ 10 - eee




You Try
1) —2b>+8b—-8=0

2) 9x"—x-8=0
3) —5x*=1+6x

4)
2(x-3)2=17
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You Try 4x* — 5 =—4x
UXE+Hx-5=0O
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Solving by Taking Square Roots

e Only works if:
1) There is no b term
2) ltis in vertex form

e Add when taking
square root of each side!



1. 9> —-2=23

2. (x+9)? +4 =68



1)

2)

You Try

p+7=179

(x - 137 = 20



Wrap-Up

What is the Discriminant and what does it tell us?

How does this relate to graphs?

How does the number of solutions relate to the degree
of the function?

Why are solutions sometimes real/imaginary?

When can we solve by taking square roots?
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